MATH 123 PRACTICE MIDTERM 2

L(
NAME (PRINTED): gg/ﬂ fon S,
DiscussioNn TIME:

Please turn off all electronic devices. You may use both sides of a 8.5 x 11
sheet of paper for notes while vou take this exam. No calculators, no course
notes, no books, no help from your neighbors. Show all work - the grading
will be based on your work shown as well as the end result. Remember to
put your name at the top of this page. Good luck.

Problem | Score (out of) ]
1 (10)

2 (10)

3 (10)
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7 (10)
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1. (10 pts) Find the volume of the solid obtained by rotating the region bounded by the
circle of radius 1 centered at (2,0) about the y-axis.
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2. (10 pts) Write down the integral representing the the volume of the solid obtained by

rota
the: fog e o Himvimded by gt Y =~V + 2 and the x-axis about the x-axis using

Vas
' [ 4 ‘Z
A) Shell Method SFep T [raw Kecprer ’ =X
. (87) |
— Y
501\-(‘_ I'n JPI‘MS C)C)/ [}z X? 7'/-\.9'\ Xv—l
1)
/"F?(':—\/X"Z) }—j\#hx ‘(2 >’/ " uo)

4 i

= 0 S,
redie ol shell = /7 \)

= ‘Z._.\/') s
heloht of shell = ( —

,J
\/Olume = J

gy ((2-7IVF ) Y
B) Disk Method

gth’/J 1 /7ra,u/ /?(’7/6’&\ '.
S st Lnd Fhe vel. of rolo bere |

F691M1 C?n({ a(/J/ 7 X

of roteting regon t: SO @ ()

Vﬂ/.lste c/r‘s/c I’V\QJLAOJ ‘

//‘f\ (XZ)ZQ/X

Vol 2 (/(S“/”é preHed

7 (2 Zo/x
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4. (10 pts) Solve ¢ — 3y = 0. f(/‘,}
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5. A 60 Ib cable is 90 ft long and hangs vertically from the top of a tall building. There is a
leaky bucket containing 120 Ib of water tied to the end of the cable. If the water leaks out
at a constant rate and half the water is gone by the time the cable is lifted to the top of the
building, how much work is required to lift the cable and bucket two-thirds of the way to
the top of the building. ¢
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6. (10 pts) Find the centroid of the region bounded by y = z® and y = x5 between £ = 0

and z = 1. Hint: you may use symmetry to help you do this problem. iy
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7. (10 pts) Find the length of the curve y=a?fromzr=0toxr=1.
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